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Solve each equation. Check your solution.
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STRUCTURE Najat has 4.5 kilograms of dried fruit selling for AED 51 per kilogram. She wants to know how many kilograms
of mixed nuts selling for AED 36.73 per kilogram she needs to make a trail mix selling for AED 40.82 per kilogram. 11.34 kg
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CHEMISTRY How many milliliters of a 20% acid solution must be added to 40 milliliters of a 75% acid solution to create a
30% acid solution? 180 mL
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DISTANCE Nahla’s average speed riding her bike is 11.5 dl>yy pgdig .11.5 km/h Lgizlys) dlgs 35LS deyws bwgio 8J""~ T PN
kilometers per hour. She takes a round trip of 40 kilometers. It
takes her 1 hour and 20 minutes with the wind and 2 hours and

30 minutes against the wind. Cli’” ool Jusce diids 30 g Guiclws
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a. Write an expression for Nahla’s time with the wind.
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c. How long does it take to complete the trip? 3 h and 50 min.

b. Write an expression for Nahla’s time against the wind.
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d. Write and solve the rational equation to determine the speed
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AIR TRAVEL It takes a plane 20 hours to fly to its destination against the wind. The return trip takes 16 hours. If the plane’s
average speed in still air is 500 kilometers per hour, what is the average speed of the wind during the flight? 55.56 km/h
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BUILDING Ali’s volunteer group can build a garage in 12 hours. Adnan’s group can build it in 16 hours. How long would it

take them if they worked together? about 6.86 hours
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WORK Ayman and Badr wax cars. Ayman can wax a

particular car in 60 minutes and Badr can wax the same car in 80
minutes. They plan on waxing the same car together and want
to know how long it will take.

1
a. How much will Ayman complete in 1 minute? 50"
b. How much will Ayman complete in x minutes? %.
1
c. How much will Badr complete in 1 minute? 30°

d. How much will Badr complete in x minutes? %.

e. Write a rational equation representing Ayman and Badr

. X x p—
working together on the car. =0 + 30— 1.

f. Solve the equation to determine how long it will take them to
finish the car. about 34.3 min.
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Solve each inequality. Check your solutions.
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